pcs_reset = ON

'

DISABLE_TRANSMITTER

TX_AGGREGATE

SEND_IDLES

tx_coded <=

TX_AGGREGATE *
_ ENCODE(IBLOCK_T)

Itx_data_mode

I

TX_AGGREGATE *
tx_data_mode

— v

SEND_DATA

tx_coded <=
ENCODE(tx_raw<99:0>)

I | —
TX_AGGREGATE * TX_AGGREGATE *
tx_data_mode * ltx_data_mode
Itx_Ipi_active

TX_AGGREGATE *
tx_data_mode *
tx_lpi_active

SEND_ENTER_LP!I

tx_coded <=
ENCODE(LPBLOCK_T)

[ ltx_data_mode

TX_AGGREGATE *
tx_data_mode *

TX_AGGREGATE * tx_lIpi_active
tx_data_mode * .
Itx_lpi_active SEND_LPI

tx_coded <= ZBLOCK_T

Itx_data_mode

|
TX_AGGREGATE *
tx_data_mode * TX_AGGREGATE *
tx_lpi_active tx_data_mode *
Itx_lpi_active

SEND_WAKE

tx_coded <=
ENCODE(IBLOCK_T)
L

Itx_data_mode

TX_AGGREGATE *
tx_wake_frame_complete

NOTE—Transitions inside dashed boxes are only
required for the EEE capability

Proposed Revision to Figure 97-14 — PCS Transmit state diagram

Add the following constant definition to 97.3.6.2.1:
ZBLOCK_T<80:0>

TYPE: BIT VECTOR

81 bit vector containing all zero bits.



